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 2) �1رن ا
�ا
��/:                                                                                       (   1.5 ن  ) 
           

                        g(x)= 23 ))1(( +x 3     و       2 12f(x) +−= xx  
    

3/23                                                (  1 ن  ) 12 xx =+     : ��
��
3) 34 ا
	�0د
� ا
          

 
                                     ا������ ا�����:     ��0;9 ا
�ا
� ا
�0د�� ƒ ا
	�890 آ	� ��6 :                                                         

  
 f(x)= xx −+3 1     ; 1−≥x    
 f(x)= xx 22 −−       ; 1〈−x   
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��� (=�ار0 .                                                       (  1 ن)    
P� �

��ا
� ƒ (�ا �;�9A� Q�B2) ا��  
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